
AQs of 1 - statistics



Statistics with regards to AQs of 1
§ In the Trial Calc 2017 - 270,784 SSP Meter Points failed to calculate a 

revised AQ owing to negative consumption. 
§ Following the July recalculation the AQ1 population was 352,852 

(previously 306,846, circa 15% increase)
§ Following the August recalculation the AQ1 population was 408,813 (33% 

increase from 01st June) 
§ Of the 352,852 in July, 76,055 have an AQ effective date of 1st July 2017 

(new rolling AQ/time slice)
§ Of the 76,055, 18,905 (25%) failed to calculate for Trial Calc 2017 owing 

to negative consumption, the other 75% are new AQs of 1 
§ It is difficult to determine what % are accurate AQs of 1 owing to static 

consumption, and which are erroneous owing to negative consumption.



Further information
§ Additional background information with regards to the issue is 

available within a slide deck that was presented to 
Performance Assurance Committee available here:

https://www.gasgovernance.co.uk/sites/default/files/ggf/page/20
17-08/PAC_AQ%20of%201%20information.pdf


